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REVIEW EXERCISES ANSWER KEY

1.  What is the answer to the following problem?  Convert to base 2 and give the answer in base 2.



128  x  32  =


a.  2-10.


b.  410.


c.  212.


d.  4-10.

2.  Which of the following base numbers do natural logarithms use?


a.  3.1418.


b.  10.


c.  2.


d.  2.718.

3.  Which of the following base numbers do common logarithms use?


a.  3.1418.


b.  10.


c.  2.


d.  2.718.

4.  What is the decimal part of the logarithm called?


a.  Mantissa.


b.  Exponent.


c.  Characteristic.


d.  Reciprocal.

5.  What would be the correct number for the "characteristic" for the following number?



.00509.


a.  -5.


b.  0.


c.  -3.


d.  +3.

6.  What is the correct answer when you multiply the following numbers using logarithms?



5,280  x  360  =


a.  19,008.


b.  1,900,800.


c.  1,900.


d.  1,901.

7.  What is the antilogarithm of the following number?
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a.  6,482,600.


b.  3,380,000.


c.  .000003038.


d.  3,241,300.

8.  What is the correct way to solve the following problem using powers of ten?
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a.  .3185  x  103.


b.  3.185  x  103.


c.  6,281.


d.  6,360,000.

9.  What would be the correct symbol for the following number, expressed as micro?



.000159


a.  159µ.


b.  1.59µ.


c.  1.59m.


d.  159  x  10-6.

10.  What will be the correct answer to the following problem in powers of 10?
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a.  2  X  103.


b.  2  X  10-3.


c.  200.


d.  2  X  106.
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